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[31] [A]
{9 -I (PART -1I)
919 {9 g RN (CHILD DEVELOPMENT AND PEDAGOGY)
fdsr : i g7 % v &7 % [ @ag SfEa Awey g
Direction : Answer the following questions by selecting the most appropriate option.

1. SMREROT & ‘om 1. Who propounded the 'Need
&1 gfodres feee R ? Hierarchy Theory' of Motivation ?
[1] & [2] & [1] Hull [2] Maslow
[3] [4] [3] Atkinson [4] Thomson

2. T 2. Which of the following is not a

! rojective technique of personalit
A fafy 78 2 ? projecti hniq fp lity
assessment ?

[1] q=-grEad [1] Word-association
(2] W’E[ﬁ [2] Sentence completion
[3] gUi9 i [3] Expressive movement
[4] [4] Sociometry

3. g 3. Which of the following is not an
Rers 78 B ? extrinsic motive ?
[1] 9 & fore Qe wReqet e [1] Competing in sport for trophy
[2) & % Q. Al T E} gg;g?zchizrl Szleirv};ce for self-
3] 3'“"5@@3 %ﬁ TSI BT satisfaction
[4] Th E0ET W T R G [4] Buy one get one free

4. JERRe STwE queer ek & .. 4. Thematic Apperception Test is used
HIYT %ﬁ SYERT § dT S to measure the ........... of students.
[1] g [2] SF¥ear [1] Intelligence [2] Aptitude
[3] [4] [3] Attitude [4] Personality

5. 5. Which of the following statement is
o das 78 T 7 not correct with reference to

(1] T8 STEg ST Bl 2l
2] & Rl & A &

afa & B
[3]

URad @ @I T 3aT 2
(4]

AR =i @ foRy & B

Level-2/806

adjustment ?

[1] It creates imbalance.

[2] It motivates to change the life as
per the demand of the situation.

[3] It gives ability to bring desirable
changes in the conditions of
environment.

[4] In the absence of adjustment one
is surrounded by tension and
anxiety.

P.T.O.
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[A]
6. I

& e fom 2t B 7

[1] Gag-usi™

[2] qa-dfhars

[3] Yoi-iforareTeh

(4]

gmﬁﬁﬁﬁ ¥ q piA-ar e w8 78
?
TRFET & T- SRl &
qrIoTs e & E|

[~

[1] - T g
e .

[2] - UrEdl Sfae
REII

[3] - YEdl I
oot T QiehT

[4] - AR ergERn

BlalNEn

HETs Soesadl i 9 geta 787
g7

NEGES

[2] fa¥es

[3] @ amgfd

[4]

[

|«©

Gl § 9 78 B 7
[1]

fadwar o S g
(2]

THEE B Tl Bl
[3]

ST R
[4]

B B
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[4]

6.

[~

|

|©
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According to Piaget's cognitive
development theory, the 'ability of
reversibility' develops during which
developmental stage ?

[1] Sensory motor

[2] Pre-operational

[3] Concrete-operational

[4] Formal-operational

Which of the following match is not
correct ?

Erikson's Stages of Serial
Psycho-social Number of
Development Stages

[1] Initiative Vs Guilt - Stage 3

2] - Stage 5
Confusion

[3] - Stage 1
Shame and Doubt

(4] - Stage 4
Inferiority

Which of the following elements is
not related to Skinner's operant
conditioning theory ?

[1] Extinction

[2] Discrimination

[3] Spontaneous recovery

[4] Reinforcement

Which of the following statement is

not correct with reference to Attitude ?

[1] Attitude has motivational-
affective characteristics.

[2] Attitude can range strongly
positive to strongly negative.

[3] Attitude have a subject-object
relationship.

[4] Attitude is innate and acquired
both.
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[1]
IAE B

[2]
HLT B

[3] o wh gt uikar B

[4]

TR ©

[1] =l anfsses e @
[2] | SMieEeh G &
[3] StsTicash TEOT &l

(4]

12. fr=fefeg & § 3

faQar 78 ® ?

[1] Aiferepa [2] Sraefic

[3] [4]

Frefofed & @ #H-81 #1X
NTERTH Ufsha T Ui 78] el & ¢
[1] farers o1 fRwEToT Hierd

[2] Tt &1 qHTEE e

[3] Trees & fawg &

[4]

g7

[1] G=AHS

[2] Tepmice

[3] HEFTHS U6 TEREE Q)
[4]
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[5]

11. Cattell's

GET IT ON
Google Play

[A]

10. Which of the following statement is

correct about the development of
children ?

[1] Development is a product of
only hereditary.

[2] Development follows a random
pattern.

[3] Development is a cumulative
process.

[4] Different aspects of development
are not interrelated.

culture free test of

intelligence is a type of :

[1] Individual Verbal Test

[2] Group Verbal Test

[3] Non-Verbal Test

[4] Verbal and Non-Verbal Test

12. Which of the following is not a

characteristic of creativity ?
[2] Flexibility
[4] Fluency

[1] Originality
[3] Rigidity
Which of the following factors does not
affect the teaching-learning process ?
[1] Teaching skill of teacher

[2] Mental health of teacher

[3] Subject knowledge of teacher

[4] Physical appearance of teacher
What kind of changes does growth
bring about in children ?

[1] Structural

[2] Functional

[3] Structural and functional both

[4] None of these
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15. 15. 'Acceleration' is an important plan
e % fow e Al dom 8 ? for education of which type of
special children ?
[1] Sicrememeit [1] Gifted
[2] % STfFTHRaT [2] Slow learner
[3] SAferm oTewy [3] Learning disabled
[4] [4] Mentally retarded
16. HAHS Uossar d ARTERdl # 16. What type of reinforcement schedule
is to reinforce each correct response of
g U @t g*'lsivlvl \ﬂggt?l g7 the learner, in operant conditioning ?
[1] T iRt [1] Fixed interval
[2] qREcHeiE S [2] Variable interval
[3] e srguma [3] Fixed ratio
[4] [4] Continuous
17. T 17. 'Development proceeds in the
faem § oM gear ¥, Fed § ¢ direction of longitudinal axis (head
to foot)', called :
[1] fadfes-Hea [1] Cephalic-Caudal
[2] SifraHIfed [2] Proximodistal
[3] affa [3] Spiral
[4] [4] Circular
18. 18. A type of intelligence test in which
the questions are similar in difficulty
level but more importance is given to
S B the time element :
[1] T oqeer [1] Speed Test
[2] QAR 9ReToT [2] Power Test
[3] enfeash qieror [3] Verbal Test
[4] [4] Performance Test
19. 19. Which of the following is not a
B AT Ay 78 ? subjective method of personality
[1] SEHR assessmen't ?
2] > [1] Interv1e\y
[2] Observation
[3] STEHBAT [3] Autobiography
[4] 1= dreed [4] Word Association

Level-2/806
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SETE R

[1] STaaafrTe Rrrarett &
[2] STa:Qafeaes Rrranett @
[3] ST et &
(4]

21, g 7 SR @

o fear ?
[1] GHash qreasrs
PARE R CREL
[3] afta areErd
[4]

22. f
fpee farepii fepa ?
[1] arrTEh
[2] TR
[3] et
[4]

FA 5 7
[1] drEmeer (2] Zlree
[3] [4]
24. T
gfs EXE Hisd & I 78T © 7

[1] wifspa [2] €S
[3] [4]

febar ?

[1] MR [2] FreTE
[3] [4]
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[A]
Meenal is average in intelligence,
low in creativity and high level in
adjustment. This is an example of :
[1] Inter Individual Differences
[2] Intra Individual Differences
[3] Observable Differences
[4] Expected Differences

21. Which type of curriculum did Bruner

suggest to follow for the cognitive
development of children ?

[1] Inclusive curriculum

[2] Special curriculum

[3] Spiral curriculum

[4] Integrated curriculum

Who developed the Socio-cultural
theory of development ?

[1] Vygotsky

[2] Erikson

[3] Kohlberg

[4] Bronfenbrenner

What is the mechanism called,

change his own ego to that of
someone else ?

[1] Identification [2] Rationalization
[3] Sublimation [4] Projection
Which of the following component
is not the part of Guilford structure
of Intellect model ?

[1] Operation
[3] Content

[2] Cognition
[4] Product
Who propounded the
theory of Intelligence ?
[1] Gardner [2] Guilford
[3] Sternberg [4] Vernan

Triarchic

P.T.O.
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TGN o B SEEA § 7

[1] FpifFes (2] AwEshiiaed
[3] [4]
21. Frfoied & & @-a1 g a8 78
g7
fraia Rraia
[1] fms -
EEAG]
[2] §gT -
frsia
[3] R -
frsia
[4] -
28. [=idie
T @ faQwar 78 & ?
[1]
RIS
[2] T T GERT H1 FHE B
[3] TG eTehiaTd
[4]
29.
AR TR w1 17
B TE qRHT D g & R 7
[1] 3FR [2] RewieE
[3] X [4] dffee
30. T
TeearE § gat 78 2 ?
[1] BB [2] IR
[3] %P [4] T&MR

[8]

GET IT ON
Google Play

'Family and School' are the examples
of which environmental system in
Bronfenbrenner's Bio-ecological
Model theory ?

[1] Macro system [2] Micro system

[3] Exosystem  [4] Chromosystem

Which of the following pair is not

correct ?

Theory Theory
Propounder
[1] Piaget — Cognitive

Development Theory
[2] Bandura

Theory

[3] Erikson Psycho-socio

Development Theory

[4] Vygotsky
Theory

Which of the following is not the

characteristic of a well-adjusted person ?

[1] Awareness of his own potentials
and limitations

[2] Respecting himself and others

[3] Balanced aspirations

[4] Rigidity in behaviour

"Mental health is the full and

harmonious functioning of the whole

personality." This definition of

mental health is given by whom ?

[1] Menninger [2] Hadfield

[3] Drever [4] Waltin

30. Out of the following Psychologists,

who is not related with Gestaltism ?
[1] Kohler [2] Koffka
[3] Kretschmer [4] Wertheimer

Level-2/806


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

= |V

[9]

GET IT ON
Google Play

[A]

[T - II (PART - II)
A7 (< g 3i3SH) [ LANGUAGES (HINDI & ENGLISH) |
f&=<t (HINDI)

& : e 797 % o7 &7 & [ qag ST [dwey g

31. FpaT & 3 | o7 fashed T ¢

[1] Y 9= forgarmr & - SRomef®
fera

[2] ST B IR Gl & - THHD
ER|

[3] STedTUs SToih &l f&dl er @ 8
- et B

[4] ol S-S/ 29 @ R -
UpHE R

ST ffivan ¥
[1] ®gF, ST, Tl
[2] ®gF, THY, HeWT
[3] %ad, FEI, FIIT
[4] %ad, STEN, FYIT
33. ‘WEARRY 9% H ol GY-FETE ©
[1] & + SR
[2] &9 + =R
[3] | + =R
[4] |1Y + STERE

Level-2/806

34.

Jo %l g § HA-A1 I @& © ¢

[1] g -
PR - o
[3] Tl - ARE
[4] B&ER - &

‘e’ 95 H HH-91 G 8 7
[1] STfcares
[2] HIEETE®

[3] SedrE®
[4] =fedares

36. ‘SEE’ 9 H WHE B

[1] @it
2] FgeH
[3] T
[4] Tt

31. fodm @t gftc | org faebea g -

[1] T& - g

[2] @fe - THiRe
[3] fesid - foRga
[4] F@rEe - g
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38. T = & PA-6 @y § ?
[1] &9 @ dfr
[2] o1 @ GfY
[3] 99 &R Gy
[4] &S €iY
39. ‘FETET H WEH T B
[1] Seher
[2] s
[3] @St
[4] =T

ST B3 B 7

[1] o of= feelt g & m

[2] o OfE &7 @1 T

[3] Jor@ el e # uedl B

[4] I % 9T FB T &9 @ o

SART B3 B 7
[1] Jo5ar=h
[2] feotare
KIRRLEREIEE?
[4] AFL=TETh

[10]
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ST e & 7
[1] gt
[2] ==
[3] diera
[4] @

43. ‘GO 9= § -9 q99 ® ?

[1] FHERT 99
[2] &5 999
[3] STEAEE 9

(4] STgE T THIH

44. 9 9= F O IUE B TEN 78T

g § 7

[1] STgTX
[2] STgwH
[3] STg=X
[4] ST

g7

[1] T sr=af |

[2] 39T o=ai H

[3] dewa g |

[4] Soga &+t o=t |

Level-2/806
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[A]

Direction : Answer the following questions by selecting the most appropriate option.

46. Select the appropriate one word

substitution for the following :
Former students of a school or college

[1] Emblem [2] Alumni
[3] Expert [4] Incharge

41. Change the Narration :

"I'm taking the children to the
z00 tomorrow." She said.

[1] She told that she would be
taking the children to the zoo the
day after

[2] She said that she will take the
children to the zoo the next day

[3] She told that she will be taking
the children to the zoo

[4] She will take the children to the
700, she said

48. Choose the correct synonym of :
Genius

[1] Happy

[2] Cheerful
[3] Talented
[4] Comfort

49. Select the appropriate preposition for
the blank :
He has not yet recovered .......... his
illness.
[1] over [2] in
[3] at [4] from

Level-2/806

50. Choose the option that brings out the

meaning of the underline idiom :

A lion's share of India's annual
budget is for defence.

[1] major share
[2] minor amount
[3] small

[4] very little

al. Select the correct antonym of :

Gloomy
[1] Praise [2] Coarse
[3] Cheerful [4] Dismal

94. Choose the appropriate conjunction

for the blank :

I shall not go .......... I am invited.
[1] and [2] unless

[3] but [4] there

93. Change the narration to Reported

Speech. Choose the right option :

"Who has been using my
typewriter 7" Said Mother.

[1] Mother asked who has been
using her typewriter

[2] Mother said who was using her
typewriter

[3] Mother asked who had been
using her typewriter

[4] Mother asked her typewriter was
being used by who
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4.

Select the correct meaning of the
underlined phrasal verb :

Who can say what will turn up next ?
[1] remember

[2] divide

[3] end

[4] happen

99. Choose the part of sentence that has

CITOor

she does not/ resemble to / either of /

A B C
her parents
D
[1] A 2] B
3] C [4] D

56. Select the correct tense form from the

options given :
When 1 first (come) to this house, it
(be) a very quiet area :

[1] comes, is
[2] came, was
[3] coming, is

[4] come, are

57. Select the correct tense form from the

options given :
Peter (try) to come in quietly but his
mother (hear) him.

[1] tried, heard
[2] trying, hears
[3] was trying, was hearing

[4] is trying, hears

[12]

58.

GET IT ON
Google Play

Change the voice from Active to
Passive and select the correct option :

Bees make honey
[1] Honey is make by bees
[2] Bees are making honey
[3] Honey are made by bees
[4] Honey is made by bees

59. Change the voice and select the

correct option :

Somebody has put out the light.

[1] The light has put out by
somebody

[2] The light has been put out by
somebody

[3] Somebody has been out to put
light

[4] The light is being put out by
somebody

50. Select the correct preposition for the

blank :
Ishalldoit......... pleasure.
[1] in
[2] with
[3] about

[4] over

Level-2/806
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AR - ITI (PART - III)
9MY 3T=4 (GENERAL STUDIES)

RS ARG, it ST T8 | ST U§ SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

& : R 797 % o7 &7 & [ qag ST 4wy g

Direction : Answer the following questions by selecting the most appropriate option.

61.

S YRR Ufed & TF g BN
[1] PR 9 2] ®) &
[3] (4]

Ua-

g ?

[1] «g
[2] ST
[3] ST
[4]

U 399 T 2, 39 /AT B BT :

[1] STUA

[2] RQPA

[3] MLKA

[4] HGFA

= T S @ S I
HIoT -

LXF, MTJ, NPN, OLR,
[1] PHV [2] PIU
[3] PIW [4] PKX

Level-2/806

61.

Earth is related to Axis in the same
way as wheel is related to :

[1] Tyre [2] Car
[3] Road [4] Hub

62. Anil introduces Prashant, "He is the

husband of the grand daughter of the
father of my father". How 1is
Prashant related to Anil ?

[1] Brother

[2] Brother in law
[3] Nephew

[4] Son

63. Four groups of letters are given

below, three of them are alike in
certain way while one is different,
choose the odd one :

[1] STUA
[2] RQPA
[3] MLKA
[4] HGFA

Find the next term in the following
letter series :

LXF, MTJ, NPN, OLR,
[1] PHV [2] PIU
[3] PIW [4] PKX
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65.

fdl Five ® d 786

'Study very hard', '958' @l a1¢f 'Hard
work pays', '645' & & 'Study and
work', @ 'very' &l IS T BN ?
[1] 8 [2] 6

[31 7 [4] 5
kA, B § 40 #ieX 3R
&, C, B & 40 e ahrrgd
WC, A 9 5 Rem § &rm ?

[1] 9

2] ke
[3] SR
[4]

150 feenfdiEt g o ofed s 35

ga

Agd i 39
foenft w1 of\a Wi 15 &,

G ST BITT
[1] 120 [2] 125
[3] 135 [4] 140

I a*=b,b’ =¢c AR ‘=
xyz &1 A9 ¥ B 7

[1] abc [2] 1

3] L (4] ab

FITT S 4, 5, 6, 15 T9r 18
s & -

[1] 800
[3] 900

[2] 225
[4] 361

Level-2/806
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65. In a certain code '786' means 'Study

very hard', '958' means 'Hard work
pays', '645" means 'Study and work’,
which is the code for 'very' ?

[1] 8 [2] 6

[3] 7 [4] 5

66. If A is 40 meter South-West of B, C

68. If a*=b,b” =c and *=

18 40 meter South-East of B, then C
1s in which direction of A ?

[1] East
[2] West
[3] North-East
[4] South

67. The average marks obtained by 150

candidates was 35. If the average
marks of passed candidates was 39
and that of the failed candidate was
15, find the number of candidates
who passed the examination :

[1] 120 [2] 125

[3] 135 [4] 140

, then
what is the value of xyz ?

[1] abc [2] 1

3] [4] ab
Find the smallest perfect square
number which is exactly divisible by

4,5,6,15and 18 :
[1] 800 [2] 225

[3] 900 [4] 361
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10.

eY

-5/2 -3/2
V5 T x5 T e we R e ?

1

n L 2] -

71. HE o9 ThYRE AN B W G 15

73

Il AT & & § 8 A1 B S ?
[1] 30 ¥ [2] 40 %

[3] 60 a9 [4] 45 a%

& 25 SEH fhel BEd @l 60
T Fe Tha &, A 10 JAEH W HEA

%l fhae A1 H§ @l @il ?
[1] 125 &= [2] 92 &

[3] 100 &5 [4] 150 &=

13. 3§ x+l=5 2, al x3+i3

T BT 7

[1] 125 [2] 110
[3] 115 [4] 105
gR ?

2,7, 24, 77, 238, ........
[1] 721 [2] 722
[3] 723 [4] 733
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[A]
What is the value of

-5/2 -3/2
\/g X\/g ?

1

m L R -

71. A sum of money doubles itself in 15

years at compound interest. In how
many years it will become 8 times at
the same compound interest rate ?

[1] 30 years [2] 40 years

[3] 60 years [4] 45 years

If 25 men can reap a crop in 60 days,
then in how many days will 10 men

reap the crop ?
[1] 125 days [2] 92 days

[3] 100 days [4] 150 days

13. If x+l=5, then what is the value

of x3 +L3 ?
[1] 125 [2] 110
[3] 115 [4] 105

Find the next term in the following
number series :

2,7, 24, 77, 238,
[1] 721
[3] 723

[2] 722
[4] 733


https://applink.adda247.com/d/XhqWf9lSap
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15.

\/8+2 8+2v8+........

PITC :

[1] 8 [2] 10

[3] 11 [4] 4

I a B gEE P A 50%
BIRECTIE L

[1] 50% [2] 100%
[3] 125% [4] 150%

77. IR —H S X, + & M+, + H A +

XF AT -3, W15-5-5%x20+ 10
& A F491 B8R 7

[1] 70 [2] 78
[3] 75 [4] 73
el axg @ 72,000

fordll et B 20% 1 @ Bl
SH q%] BT B T T AT °

[1] 60,000 %o
[3] 40,000

[2] 50,000 S0
[4] 65,000

T <@ § f9-91 I TATe 7
8, 13,21, 32,47, 63, 83

[1] 13 [2] 32
[3] 47 [4] 63

T T 81 A9 39 64

FE g T gom T & ?
[1] 24 2] 16
[3] 8 [4] 4
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Find the value of :

\/8+2\/8+2\/8+ ........
[1] 8 2] 10
[3] 11 (4] 4
If each side of the square be

increased by 50%, then find the
percentage increase in the area :

[1] 50% [2] 100%
[3] 125% [4] 150%

11. If xstands for —, + stands for +, + stands
for +, — stands for X, then what is
the value of 15-5+5%x20+107?

[1] 70 [2] 78
[3] 75 4] 73
By selling a commodity for

Rs. 72,000, a person made a profit of
20%. What was the cost price of that
commodity ?

[1] Rs. 60,000
[3] Rs. 40,000

[2] Rs. 50,000
[4] Rs. 65,000

Which term 1is the

following series ?

8, 13,21, 32, 47, 63, 83
[1] 13 [2] 32
[3] 47 [4] 63

wrong in

80. A solid cube is coloured red on all

faces. It is cut into 64 smaller cubes
of equal size. How many small cubes
have no face coloured ?

[1] 24 [2] 16
[3] 8 [4] 4
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T g AR SwiE R R

NEEEE

2] g
3] Foa=

[4]
82. g T, STEl SIEe Il STl @ -

[1] 718
[2] T
[3] BIEER
[4]
83.
g7
[1] Tled URAR SN ot
[2] 9RER e 95 el
[3] e URER dyfE FioEr
[4]
84.
yiqsrd ®
[1] 25% [2] 33%
[3] 66% [4] 50%
85.
-9 AR fpar T ®
[1] Teu™ [2] Hega

[3] (4]
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[A]

81. The place, which was visited and

mentioned by Chinese traveller Yuan
Chwang :

[1] Agroha

[2] Sugh

[3] Kurukshetra
[4] Panipat

82. The district, where Dolomite is found :

[1] Mahendragarh
[2] Gurugram

[3] Faridabad

[4] Panipat

83. Under which scheme of Haryana

Government the socio-economic
data of all the families of Haryana is
being created ?

[1] Antyoday Parivar Utthan Yojna
[2] Parivar Pehchan Patra Yojna

[3] Mukhyamantri Parivar Samriddhi
Yojna

[4] Jan Aadhar Yojna

84. Percentage of posts which have been

reserved for women in Panchayati
Raj Institutions of Haryana :

[1] 25% [2] 33%
[3] 66% [4] 50%

85. The district, where first time in
Haryana  E-challan has  been
introduced :

[2] Panchkula
[4] Rohtak
P.T.O.

[1] Gurugram
[3] Hisar
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W e
[1]
BRI TR &N

2]
an

[3]
an

[4]

87. dE 3IATS, S WIMETT

ST B

[1] ZromeEr

[2] 5 af¥rs arare
[3] HERIT Y9 ST
[4]

N B :
[1] 113 [2] 21af
3] 15 [4] 18

BIhe &l ghe § ogaH
AR @

[1] fogE™

[2] -eT

[3] aCEt

[4]

BRI |

g

[1] T & FJegusl
[2] =R AR
[3] U9 & WHelidesr
[4]
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'Global City Project' is
developed by :
[1] HSIIDC, Govt. of Haryana

being

[2] GMDA, Govt. of Haryana
[3] HUDA, Govt. of Haryana

[4] Ministry of Urban Development,
Govt. of India

81. The award, which is given to a sport

coach for excellence in coaching by
the Haryana State :

[1] Dronacharya award

[2] Guru Vashistha award
[3] Maharana Pratap award
[4] Arjuna award

88. The position of Haryana in India in

respect of area is :
[1] 11th
[3] 15th

[2] 21st
[4] 18th

89. The smallest (in term of area) wild

life sanctuary is :
[1] Bhindawas
[2] Nahar

[3] Saraswati
[4] Chhilchhila

90. The de jure head of the State

Administration in Haryana is :

[1] Chief Minister of the State

[2] Divisional Commissioner

[3] Advocate General of the State
[4] Governor of the State

Level-2/806
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[A]

A - IV (PART - IV)
& fas™ (HOME SCIENCE)
3T : Rt g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91. 9 YHR & URAR H —
e, Ul & X H @ 7

[1] FRgesia qRar
[2] THd GRAR
[3] AL IREAR
[4] HgFT URER

799 Qe & [T SUgH B B
[1] o/« Sliad [2] Sfiesieba
[3] (4]

93. fqaf B; & &8l o« ®
[1] SwEfes [2] ifers Qe
[3] (4]

94. TUES TATamREr 8
[1] I8
[2] HFHT
[3] T WM § TE WM W S

[4]

95. WMIYH UM H THE Tl € ¢
(a) &M FH &
(b) IO A BT
(c) ¥ BT A YeeH
(d) fER & &9t

?_c" h

[1] (a), (b), (c)

[2] (a), (b), (d)

[3] (a), (b), (¢), (d)

[4] (D), (¢), (d)
Level-2/806

9l1.

In which type of family — husband,

home ?

[1] Patrilineal family
[2] Nuclear family
[3] Matrilineal family
[4] Joint family

....... is the period of time, for which
the food is fit for human consumption.
[1] shelf life [2] life span

[3] save life [4] preservation

93. Vitamin Bj is also called as :

[1] Biotin
[3] Niacin

[2] Folic acid
[4] Thiamine

94. Motor Activities are :

[1] To jump

[2] To run

[3] To move from one place to
another

[4] All options are correct

95. The effect of mental fatigue are :

(a) Decreased attention

(b) Decreased motivation

(¢) Increased mental performance
(d) Impaired thinking

Code :

[1] (a), (b), (c)

[2] (a), (b), (d)

[3] (a), (b), (¢), (d)

[4] (b), (¢), (d)
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96. .oeeeiinnn, Ul GerT ], off {6 deh
g Rifheds IUAS Bl Bl
[1] v ©e 2] B& T8
[3] ST TE [4] 39

97. ...
el &l Bl
[1] fqef® = C
[2] fae®= A
[3] faei®= B,
[4] faef= K

98.
Fifh
[1]

]
[2] T& 9gd &9 WE0 H o
]

[3] 98 SN & a1 HH B &l
[4]

99.
T &, heardl § ¢
[1] 95 [2] &
[3] (4]

100. ICDS
T g d8 8 :
[1] 1974 [2] 1975
[3] 1976 [4] 1977
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.............. is the help, which is

immediately provided to the person

till the doctors help is obtained.
[1] Band Aid [2] First Aid
[3] Teaching Aid [4] Tape

helps in the proper

functioning of Eyes.
[1] Vitamin C
[2] Vitamin A
[3] Vitamin B,
[4] Vitamin K

Zinc 1is called a trace element,
because :

[1]

it is needed in a very large
quantity.
[2] it is needed in a very small
quantity.

it works with lodine.

[3]
[4] it is not needed.

99. Addition of white colour to any

colour is called :
[1] Shade
[3] Tint

[2] Hue
[4] Intensity

The ICDS scheme was intiated in a

year :
[1] 1974 [2] 1975
[3] 1976 [4] 1977
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Mo To THo Mo &R TH 15

[
el

Qiftess STETHT &
[1] 30 o Mofd [2] 27 Mo H;o/fdH
[3] 35 o Mofd [4] 28 Mo Ho/fH

[
N

Bt & 7

[1] SiceTem

[2] A T

[3] M=

[4]

ICMR

fenfora fopam & ?
[1] 5

3] 7

[
(2]

[2] 8
[4] 6

[
Y

PHROT I~ STEAT HEARA & -

[1] AFRE ¥

[2] SRRE &

[3] O

[4] STgfa IR o
105, fEeive @

[1]
Jrgar

[2] Sl g oTEqse &3 Al

[3] g A
[4]
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[A]

ICMR
Allowance of Iron for 15 years old

Recommended Dietary

girl is :
[1] 30 mg/day
[3] 35 mg/day

[2] 27 mg/day
[4] 28 mg/day

Kwashiorkor problem is based on
deficiency of :

[1] Calcium
[2] Iron

[3] Protein
[4] Iodine

ICMR divided food products into
how many groups ?

[1] 5 [2] 8
[31 7 [4] 6

Inefficiency due to excessive work
done in the past is known as :

[1] Psychological fatigue
[2] Physiological fatigue
[3] Stress

[4] Wrong body posture

Bilingualism :

[1] is the
languages

ability to use two

[2] rapid and confused speech
[3] repetitive speech

[4] is the ability to use one language

P.T.O.
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[A]

[
[=2]

7-SEEgIhER A I ©

[1] foef= E
[3] faei®= D

[2] faef = C
[4] faefE A

[
~

107. fg-
g

[1] Zarali & forg e

[2] 1 & fow dere

[3] S@H B A WA B G

[4] AH B foTT Hea™

TARTFTT Fater B, T ¢
[1] SHReAwaiirr

[2] &Y T faehr
[3] #o Tt
[4]

fadoe <1 T S #

[1] Tk "
& T HERT

[2]
& A ARt

[3] & qaiiFs TN @l et
[4]

[
(=

[
(L]

[
ol

[1] ardfd®
[3] Qe

-

S & 7
[1] STt
[3] ¥
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7-Dehydrocholesterol is the Precursor
of :

[1] Vitamin E
[3] Vitamin D

[2] Vitamin C
[4] Vitamin A

Creche,
Anganwadies are :

Nursery schools,
[1] Institutions for adults

[2] Institutions for old age person
[3] Institutions for care of children

[4] Institutions for servants

Anorexia Nervosais a:
[1] Osteomalacia

[2] Nervous Disorder
[3] Eating Disorder

[4] Hormonal Disturbance

Secondary colours are formed by :
[1] mixing one primary colour with
one secondary colour

[2] mixing one tertiary colour with
one primary colour

[3] mixing two tertiary colours
[4] mixing two primary colours

Direct income can also be called :

[1] Real [2] Psychic
[3] Money [4] Total
fiber' ?

[1] Nylon [2] Cotton
[3] Silk [4] Wool
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112, FFHIA I el 2, 59 9 q ¢

[1] ®=g~H [2] FFE
[3] FAEA [4] FRLA

113. HgAB & QT IR §

ol
ot

(a) CﬁFﬁ'{ﬁ'ﬁT
ORISR

(c) BIRURAEHIT
(d) RIS
OREER
%e -

[1] (a), (b), (c)
[2] (a), (b), (e)
[3] (), (b), (d)
[4] (b), (¢), (d)

[
ol
=N

...........

[1] de&y

2] g

[3] &t

[4] S-

Mg 9 ©
[1] HAas

[2] R

[3] SR
[4]

[
ol
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[A]

Communication word has been
derived from word :

[1] Communis [2] Community

[3] Commodity [4] Communal

. Following are symptoms of Diabetes

Mellitus :

(a) Polyurea

(b) Polydypsia
(c) Hypoglycemia
(d) Hyperglycemia
(e) Hypophagia
Code :

[1] (a), (b), (c)
[2] (a), (b), (e)
[3] (), (b), (d)
[4] (b), (¢), (d)

. . . is the Japanese art of flower

arrangement.
[1] Vertical
[2] Ikebana
[3] Horizontal
[4] S-Shaped

15. Human Development is :

[1] Sequential
[2] Continuous
[3] Individualized

[4] All options are correct
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[A]
116. 9 § § 39 aoEl SE-H 7 ?

(a) WHIZ

(b) qE=X

(c) Ufseh TgH freed
(d) T FS

%c -
[1] (a), (©), (d) [2] (a), (b), (d)
[3] (b), (), (d) [4] (a), (b), (c)

ol
ot

S ®
[1] JEE &
[3] Sttt

[2] dfeaaq @l
[4] SRS @l

[
ol

forsror 3 -

[1] oM T i T

[2] e i fafewt

[3] A B QT HE qEM Bl ARt

[4]

ol
ot

>

gd :
(a) HISHS
(b) FESH
(c) =T
(d) Feharaa
() HAHT
&c -
[1] (b), (), (d), (c), (e)
[2] (¢), (b), (), (d), (e)
[3] (&), (d), (c), (b), (a)
[4] (a), (b), (), (d), ()
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Which of the following are visual
aids ?

(a) Blackboard

(b) Poster

(c) Public Address System

(d) Flash Card
Code :

[1] (a), (¢), (d)
[3] (b), (c), (d)

[2] (a), (b), (d)
[4] (a), (b), (©)

Loss of tissues in fever leads to
increased demand of :

[2] Calcium
[4] Iodine

[1] Protein
[3] Energy

Fermentation, Sprouting, mixing of
foodstuffs are :

[1] Methods of cooking
[2] Methods of chopping

[3] Methods that increases
nutritional value of food

[4] Methods of decoration

Sequence the various functions of
Management :

(a) Organising

(b) Planning

(c) Controlling

(d) Implementation

(e) Evaluation

Code :

[1] (b), (a), (d), (c), (e)
[2] (c), (b), (), (d), (e)
[3] (e), (d), (©), (b), (a)
[4] (a), (b), (), (d), (e)
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7 o ® ?

[1] Wit f&f

2] gEr ffy

[3] g&1 & |

[4] 9 FHHT

e, Sf®, SRR, a9 WS E
[1] "pfees ST

[2] SEEH (S

[3] @RS {STh

[4]

PICHREAREI GO A

[1] SR, e, HAE, Shiv
[2] U, i, M, E

[3] U, fome, WM, S

[4] o, diferaeey, 39M, %

1 & ¥ -
A Tt AN HT HH T & 7

[
[

[
N

[
N

[1] F0S & 3 79
[2] & af 3 W

[3] B

[4]

FPO &1 37 2 :

[1] @ IARA e
[2] % SO SR
[3] & IARA G
[4]

[
[hJ
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[A]

Roasting method is an example of
which cooking method ?

[1] Moist Heat

[2] Dry Heat

[3] With Fat

[4] Pressure Cooker

Acid, Basic, Direct, Vat dyes are :
[1] Natural Dyes

[2] Neutral Dyes

[3] Synthetic Dyes

[4] Dyes

Group of Natural fibers are :

[1] Orlon, Asbestos, Cotton, Dacron
[2] Cotton, Rayon, Silk, Nylon

[3] Cotton, Linen, Silk, Wool

[4] Linen, Polyester, Silk, Cotton

Which of the following household
equipment is a time and energy
saving device ?

[1] Washing Machine

[2] DVD Player

[3] Telephone

[4] Television

FPO stands for :

[1] Food Production Organisation
[2] Fruit Products Order

[3] Fruit Production Organisation
[4] Family Planning Order
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@ TE FAT B

[1] o= e &
[2] ST HeTT

[3] SFeT &
[4] T faeeT @& B

qPie IIET | ¢
[1] =SS M H
[2] U QT H
[3] Gafyd em &
[4]

[
N

[
N

STAN HA =AM

[1] §eri W @t

[2] feferst & EWMIaR (oTEh) eniar
[3] feeplera B

4]

[
N

S B
[1] 20 S9a
[3] 15

[2] 15 9=
[4] 20

[
N

[1] Q9HE

[2] &1 SR T
[3] pH

[4]
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When the
appropriate

child doesn't
love of mother, he

get

suffers from :

[1] Bed Wetting
[2] Nail Biting

[3] Thumb Sucking

[4] All the options are correct

Terrycot is an example of :
[1] Blended Fiber

[2] Cotton Fiber

[3] Synthetic Fiber

[4] Rayon

To show the increased width of the
room one should use :

[1] Vertical lines on the wall
[2] Horizontal stripes on the wall
[3] Advancing colours

[4] Long curtains

'World Consumer Rights Day' is
celebrated on :

[1] 20 January
[3] 15 April

[2] 15 March
[4] 20 April

Conditions causing food spoilage are :
[1] Temperature

[2] Air and Moisture

(3] pH

[4] All the options are correct
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130. e B T W A ©
[1] Q& e, o
= § o

[2]
9 foram &

[3]
BT 9|

[4] Ys-qelt & fovem gamm Xam

[
[

[
N

9 9F R

[1] gt q ol

[2] S & fred &1 frerT
[3] Sfe Srgetl & Sedrel @l AT
[4] @l & IuRerfa
ﬂ'&'ﬁ?lﬁ%,ﬁ :

[1] T S} Aoy

[2] &aT A e

[3] @ iR aftrs

[4]

Tl I 39 faX ST 2 -
[1] 3= I

[2] At =

[3] Rra g

[4]
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[A]

Pulled wool means :

[1] Fibers obtained from the skin of
dead animals.

[2] Fibers obtained from the skin of
alive animals.

[3] Fibers obtained from Camels,
Deers, Foxes and Rabbits.

[4] Fibers
sources.

obtained from plant

fiber 1s known as

Atrtificial silk.
[1] Rayon
[3] Linen

[2] Nylon
[4] Polyester

Potable water is :

[1] Free from impurities

[2] Mixing of dust in water

[3] Addition of animal excreta

[4] Presence of salts

Home Science is both :

[1] Arts and Commerce

[2] Arts and Science

[3] Science and Commerce

[4] Commerce and Computer Science

Flock yarns comes under :
[1] Textured Yarn

[2] Novelty Yarn

[3] Simple Yarn

[4] Grandelle Yarn
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[A]
135.
9§ ST S 8 ?
[1] | B [2] e K
3] fefm A [4] faef= C
136.
o 2 ?
[1] ST [2] Taer=
[3] (4]
137, ®HH-
(Cretinism) 2iar & ?
[1] Bieazm [2] TSN
[3] (4]
138. &
T o9 A Eﬂﬁv‘éﬂ g
[1] &S (WoTE)
(2] RSt (ggerer)
[3] AXEUSHIT
[4]
139. TE & SMEN YT I 2l B -
[1] 2 5BR & [2] 4 TR &
3] 1 4] 6
140. ..............
TR B
[1] TopEer  [2] fhamraeen
[3] (4]
141. IEFAG gaEe 2
[1] &N, St
[2] &, 9HE
[3] B, P

[4]
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Which Vitamin is

'Coagulation Vitamin' ?
[1] Vitamin B [2] Vitamin K
[3] Vitamin A [4] Vitamin C

known as

Which liquid contains good number
of antibodies and protect the infant
against infection, it is :

[2] Vitamins

[4] Spectrum

[1] Ergosterol
[3] Colostrum

Cretinism occur due to the deficiency
of which nutrient ?

[1] Calcium [2] Iodine

[3] Protein [4] Iron

Procedure used to remove impurties
from wool :

[1] Scouring

[2] Singeing

[3] Mercerizing

[4] Tentering

According to the length, fiber is of :
[1] 2 types [2] 4 types

[3] 1 type [4] 6 types

.............. is a period of stress and

[1] Adulthood
[3] Infancy

[2] Adolescence
[4] Old age

Non-human Resources are :
[1] Knowledge, Energy
[2] Money, Goods

[3] Interest, Skills

[4] Abilities, Attitudes
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(1] TEal 9T [2] SR AW
[3] (4]

2

[1] a& [2] &rm

[3] (4]

FgeR ¥ IRad Hear § ¢

[1] Ao
PIRIEISERCEIL]

KIRERISGERCEIL]
[4]

T4 ], HE B -
NECELE

[2] & & &

[3] SHI=E

[4] afeqel

%l 2, 39 &N :
(a) HaE H TH
(b) X

(c) FHNIHD T
(d) o=t

%c -
[1] (b), (c), (d)
[2] (a), (b), (c)

[3] (a), (b), (c), (d)
[4] (a), (c), (d)
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[A]

Head of the newly born baby is
.............. of the total length of the

[1] One Tenth
[3] One Fifth

[2] One Fourth
[4] One Third

The smallest wunit of cloth

construction is called :
[1] Fabric [2] Yarn
[3] Drafting [4] Fiber

Moulding one's behaviour according
to society's expectation is called :

[1] Moral Development

[2] Social Development

[3] Cognitive Development

[4] Physical Development

The child who uses both the hands
equally, is called :

[1] Right handed

[2] Left handed

[3] Ambidextrous

[4] Extrovert

the
effectiveness of communication by :

Communicator can 1increase

(a) Knowledge of message
(b) Noise

(c) Positive Attitude

(d) Good Voice

Code :

[1] (b), (c), (d)

[2] (a), (b), (c)

[3] (), (b), (), (d)

[4] (), (¢), (d)
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[A] [30]
147. F=fofed § dm-a1 foefte o @ 147. Which of the following is an
g7 Antiscurvey Vitamin ?
[1] fef= B, [2] faef= K [1] Vitamin B;, [2] Vitamin K
[3] C (4] A [3] Vitamin C  [4] Vitamin A
148, .............. 148. .............. is a biological social unit
%, forad i, Tl R 99 B 2 of husband, wife and children.
[1] S [2] = [1] Caste [2] Friends
[3] (4] [3] Family [4] Gotra
149, HAUM & T AH B 149. Full form of MGNREGA is :
[1] [1] Monitoring of National Rural
MY THITAUSH Eager Growth Association
[2] [2] Mahatma Gandhi National Rural
T Uae Employment Gaurantee Act
[3] [3] Mahatma Jyoti National Rural
T Qe Employment Gaurantee Act
[4] [4] Maharani National Rural
Employment Gaurantee Act
150. eIl oTaRe B 150. Prenatal period is :
[1] 51 & 1% U8« 30 f&F % [1] First 30 days from birth
2] 239 | 6 a9 d&% [2] From 2 years to 6 years
3] 309 | 2 a¥ d% [3] From 30 days to 2 years
[4] TN § S d% [4] From conception to birth

Level-2/806
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. NI Ti?l'ﬁﬂ T 8, o 6 e R @ R ' given by darkening complete circle using Black ball
point pen as shown below :

O @@ ® ® O @ ® O

The answer will be treated wrong;, if it is marked, as given
H P gR & e ¥ bolow 9 g
oO® @ @ O®® ®
g If you fill more than one circle it will be treated as a
ST wrong answer.

1. 6 FE F-JRaH d 39 JEeE & U & W Rl e WA w4 (

provided in the Question Booklet for the same.)

8. @l I Fa OMR
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. W

(white fluid) is not allowed for changing answers.)

9. T% U & ot Ru 7w R fasedi § 9 SRud fogew & T OMR ST) 056
¥ W & IR W Sfhd F P 9% SH gaa & S Gl 81 (Out of the fou

Sheet. The answer once marked is not allowed to be changed.)

10. 7=l GARET HT % 30 IR TF B AST 7 A T I§ W B A B
i wm & faRed o= 71 forEh (The candidates should ensure that the Answer Sheet is not fol
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the speci
Answer Sheet.)

11. 957-GRH T I T FH AMGES T H, Fih HE G RREfT F (9eT-gRawm @ SR = & ww § e
F BiaR) A U JRaw §C JuMe TE FA® T (Handle the Question
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

12. HQ‘[—W/W =% ¥ RU T wEie B TRl /el ade § swn) 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

13. ot @ qdien Sfd/d ¥ 19 0 IR UeEN WA & SifaRe e UER @ ued-
ToR, AR 6, SR SUHT A Rl o TR H AN A QA N AT ST FA B SFGAC T 8l (
not allowed to carry any textual material
any other material except the Admit Card and Identity Card inside the examination hall/room.)

14. TREE 3 I8 TN W T0E ¥l ST sasr FE (A Fo) ofX weaN wH f@m (

his/her Admit Card (Roll No.) and identity card to the Invigilator.)
15. &= e a1 Haes @ A9 Gﬂqﬁf % o Eb:l"és STl oTae WM A BiE| (No candidate, without special permission

the Superintendent or Invigilator, should leave his/her seat.)

16. FEXT FE® B AT IR T (U B 0 swnr =l wAE
HAREl T g IR BEEE A WK TE %
Al AT STCT OMR SR O #f FeiiRa @M W ot ol e ot e & of e & e T St Rl
e @ T 9 99 # SEF @ S R |
A HIl (
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified
should be properly inked i.e. they should not be either over inked or dried in nature.)

11. (Use of Electronic/Manual Calculator is prohibited.)

18. G B H SR & i, orvaedl fefrem # & v e/ Ry
et 3 ol a1 dea a8 3 fremt w Rfed @ SINGIN g (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

19. el B & 9eT-gRE oI IR T W PiE A ST T HX (No part of the Question
be detached under any circumstances.)

zo.qﬁwmﬂwgéﬁw,m%ﬁm/aﬁa@sﬁﬁlﬁwww—qﬁ%%aﬁmwﬁq% A oo WY 3 AeA-
ST I (

Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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